CheckPoint

156-115.80 Exam
Check Point Certified Security Master - R80



Question: 1

Tom has been tasked to install Check Point R80 in a distributed deployment. Before Tom installs the
systems this way, how many machines will he need if he does NOT include a SmartConsole machine
in his calculations?

A. One machine, but it needs to be installed using SecurePlatform for compatibility purposes
B. One machine

C. Two machines

D. Three machines

Answer: C

Question: 2

In order to test ClusterXL failovers which command would you use on one of the ClusterXL nodes to
initiate a failover?

A. clusterXL_admin down -p

B. cluster XL_admin up -p

C. cphaprob -d TEST -s ok register

D. cphaprob -d TEST -s problem unregister

Answer: A

Reference:
https://scl.checkpoint.com/documents/R76/CP_R76 ClusterXL AdminGuide/7298.htm#097358

Question: 3

Which of the following is NOT a valid “fwaccel” parameter?

A. stat

B. stats

C. templates
D. packets

Answer: D

Reference: https://supportcenter.checkpoint.com/supportcenter/portal?



https://sc1.checkpoint.com/documents/R76/CP_R76_ClusterXL_AdminGuide/7298.htm#o97358
https://supportcenter.checkpoint.com/supportcenter/portal

eventSubmit_doGoviewsolutiondetails=&solutionid=sk41397

Question: 4

Which of the following is not one of the relational database domains that stores the management
configuration?

A. User Domain
B. System Domain
C. Global Domain
D. Audit Domain

Answer: D

Question: 5

What file extension should be used with fw monitor to allow the output file to be imported and read
in Wireshark?

.cap
.exe
tgz
.pcap

oo w>

Answer: A






